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QUESTION 1

What will occur if the parameter PAGE PROTECT is set to YES?

A. MSTR log buffers (OUTBUFF) will be placed in page-protected storage.

B. IRLM is to load its common storage modules into page-protected storage.

C. DIST buffers related to TCPIP connectivity are loaded into page-protected storage.

D. DBM1 pages belonging to a buffer pool defined with PGFIX(YES) will be placed in page- protected

Correct Answer: D

QUESTION 2

The ALTER BUFFERPOOL command specifying the AUTOSIZE(YES) option enables DB2 to use WLM services to fine
tune the buffer pools.

What is the result of issuing this ALTER?

A. The immediate write threshold can be increased by 25%.

B. A pool size can be increased by up to 25% over original pool size.

C. The pool size can be increased in 25% increments base on sequential read hit ratio.
D. Depending on the type of I/O performed, pool size can be increased or decreased.

Correct Answer: B

QUESTION 3

Which action should you take to improve the performance of authorization checking for stored procedures or user-
defined functions?

A. Set subsystem parameter EXTSEC to YES.

B. Increase the value of subsystem parameter SECQTY.

C. Increase the value of subsystem parameter AUTHCACH.
D. Increase the value of subsystem parameter CACHERAC.

Correct Answer: D

QUESTION 4

Which statement regarding migration from DB2 10 for z/OS to DB2 11 for z/OS is true?
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A. All packages must be rebound with application compatibility set to V10R1.

B. The DB2 catalog and directory must be changed to reside on SMS managed DASD.

C. All packages last bound prior to DB2 9 for z/OS must be rebound in DB2 10 or DB2 11.

D. The size of the DB2 bootstrap datasets must be increased to accommodate a larger LRSN and RBA length.

Correct Answer: A

QUESTION 5

In an environment with a large amount of dynamic SQL, which subsystem parameter should be adjusted to increase the
amount of memory available for caching statements in the global dynamic statement cache?

A. EDMPOOL
B. EDMDBDC
C. MAXKEEPD
D. EDMSTMTC

Correct Answer: C
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